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QUESTION 1

A customer has deployed VMware SD_WAN solution An administrator asked to imported additional security for traffic
going to internet without investigating in new hardware solutions.

A. Service chaining with DFW in NSX-V

B. Service chaining with Zscaler Cloud Security Service
C. Service chaining with DFW in NSX-1

D. Service chaining with AWS Cloud Security

Correct Answer: D

QUESTION 2

An administrator has been receiving complaints about their SaaS business collaboration apps. Which network service
should the administrator use to resolve the issue?

A. Backhaul

B. Multi-Path

C. CoS mapping
D. Direct

Correct Answer: D

QUESTION 3

A MSP partner needs to setup a Partner Gateway and configure the Handoff Interlace. Which are the valid configuration
options for the Tag type?

A. None, 802 1q, 802 3ad, and QinQ(0x8100) / QinQ(0x9100)
B. None. 802. 1q. 802, 1 ad, arid QinQ(0x8100) / QinQ(0x9100)
C. None, 802 1g. 802_1ac, and Qin(0x8100) / QinQ(0x9100)

D. None, 802 1d, 802.1ad, and QinQ(0x8100)/ QinQ(0x9100)

Correct Answer: B

QUESTION 4

Which deployment model ensures that management and control plane is cloud-delivered while data continues to flow on-
premises between VMware SD-WAN nodes that remain on-premises?
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A. Hosted SD-WAN Orchestrator/Controller

B. On-premises SD-WAN Orchestrator/Controller
C. Partially on-premises

D. All on-premises

Correct Answer: D

QUESTION 5
A network architect is designing a VMware SD-WAN architect for customer using VMware hosted VCO and VCGs,
white VCEs will be deployed at the customer\\'s branches and data centers. The network architect would like to achieve

control plane redundancy. Which action, if any, should be taken to meet this goal?

A. Multiple VCGs are automatically assigned to every VCE and control plane on VCUs is always enabled, so control
plane redundancy has been taken care of already

B. Multiple VCFs at data centers can be contoured to function as route reflectors to achieve control plane redundancy.

C. VCGs automatically assigned to a VCF. do not participate in control plane At least two dedicated Controllers should
be manually assigned for each VCGs to achieve control plane redundancy.

D. VCGs automatically assigned to a VCE do not participate in control plane At least two dedicated Controllers should
be manually assigned for the customer to achieve control plane redundancy

Correct Answer: B

QUESTION 6

A customer is using VMware vSphere in their data center. An administrator is asked to deploy SD- WAN Edges for a
Proof of Concept as soon as possible. Which deployment option is the roost cost and time effective?

A. Deploy a virtual appliance on ESXi
B. Purchase bare metal Edge

C. Deploy a virtual appliance in AWS
D. Deploy a virtual appliance on KVM

Correct Answer: D

QUESTION 7
A customer is looking to have Quality of Service (Qo0S), resource allocations, link/path steering, and error correction
applied automatically based on applications. Which component of VMware SD-WAN helps the customer achieve this

requirement?

A. Overlay Flow Control
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B. High Availability Configuration
C. Business Policy Framework
D. Branch Site Topologies

Correct Answer: C

QUESTION 8

The VMware SD-WAN solution is comprised of Orchestrator, Gateway, and Edge. The architecture ensures separation
and secure communication between the management, control, and data plane of the solution. The management plane
consists of the VMware SD-WAN Orchestrator, and the control plane is comprised of the VMware SO-WAN Gateway/

Controller. Which statement correctly describes this situation?

A. VMware SD-WAN Edges/Gateways establishes a Transport Layer Security (TLS) 1 2 encrypted session to the
VMware SU-WAN Orchestrator

B. To make the entire solution to work property, TCP port 443 and HOP port 500 and UDP port 4500 are required to
open in the firewall rule, if Edge is deployed behind a Firewall.

C. There is impact on data plane when the Edge loses connectivity to the management plane. The operator only loses
the visibility of the Edge from Orchestrator and cannot make configuration changes on the Edge until the management
plane connectivity is resumed.

D. Traffic between VMware SD-WAN Edges and from VMware SD-WAN Edges to VMware SD-WAN Gateways uses
VMware SD-WAN Management Protocol (VCMP) tunneling over User Datagram Protocol (UDP) port 2427. secured
with Internet Protocol Security (IPSec)

Correct Answer: D

QUESTION 9

Company A has recently acquired Company B and needs to establish network connectivity. Company A has only Cisco
for firewalls and VPN. Company B is using VMware SD-WAN. Which VMware SD-WAN Cloud VPN solution should an
administrator configure to establish connectivity?

A. Branch to Non VMware SD-WAN Site.

B. Branch to SD-WAN Hub

C. Branch to Main Office VPN

D. Branch to Branch VPN

Correct Answer: A

QUESTION 10

A service provider assigns two Partner Gateways to a VMware SD-WAN Edge. Which description is correct about
default route.
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A. A default route 0.0.0.0/0 can be configured as a static route and set to NAT only on the Gateway

B. It default route 0 0 0.010 has been configured for both Gateways, internet traffic originated from the Edge can failover
to the other Gateway in case of a Gateway failure.

C. When handoff is turned off on a Partner Gateway, the Gateway does not advertise a default route 0.0 0.0/0 to the
Edge.

D. The service provider administrator decides whether the Partner Gateway advertises a default route 0.0.0.0/0 or not,
although it is advertised by default.

Correct Answer: A
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